2.NBT.B.7: Add and subtract within 1000

37 29
+214 + 523

432 + 40 = 9 + 246 = 893 + 4 =

Work Space Work Space Work Space

Read and solve the word problems below. Show your work. Work Space

4. There are 521 girls and 363 boys in a school. How
many students are there in that school?

students.

5. On aroad trip, Joshua covered 382 miles in two days.
Roger covered only 58 miles in two days. How many
miles did they both cover in two days?

miles.
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Answer Key

2.NBT.B.7: Add and subtract within 1000

37 29 6
+214 + 523 + 507
251 552 513

432 +40=472 9+ 246 = 255 893 +4 =897

Work Space Work Space Work Space

Read and solve the word problems below. Show your work. Work Space

4. There are 521 girls and 363 boys in a school. How
many students are there in that school?

884 students.

5. On aroad trip, Joshua covered 382 miles in two days.
Roger covered only 58 miles in two days. How many
miles did they both cover in two days?

440 miles.
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